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A 2et2Eeg
g 2sdls &8
el N 230l Jlgtxd EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Est2Zarg ot 19,686,519 12,430,782 7,285,737
= 76,000
Jl 1,938,610
= 4,039,200
Al 13,632,709
stz &5 9,220,59% 8,187,285 1,033,310
= 76,000
) 1,938,610
= 384,500
Al 6,821,485
Y 23H0ils Jlgtxd 3,852,273 3,646,130 206,143
= 25,900
Al 3,826,373
Sstaas 2SI 35,420 38,100 22,680
202 04dl 31,920 33,600 1,680
01 2L AL 31,920 33,600 1,680
O=2t2adty gf=4 ol
140,000 x19E 122 31,920
203 gF=4| 3,500 4,500 21,000
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O2stilzdls gRFA (A3 § =) 2,500
O=2t2Z3a i AR 1,000
k=t |4 3,500,000 3,250,000 250,000
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OAtHl NI 1,200,000
oeldl & 234l X 1,400,000
OALNSEN 900,000
Zsttl=2dHel 29 18,800 18,800 0
201 er23| 18,800 18,800
01 At2teltl 8,600 8,600
ONRES € 485 7 3,600
OsdJl 848 ,223Hl S Ald= &¢cl 3,000
OJIEL At 2teld] 2,000
2 S5=2g4l 10,200 10,200 0
oNIIR3 800,000& 122 9,600
Odotees 50,0002 123 600
AEllz2 2tAt X2 29,700 44,680 14,980
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Al 19,800
307 @120l & 29,700 44,680 14,980
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02 QA AAEE X 29,700 44,680 14,980
OAlElDl=2 E3tArE X1 29,700
s 9,900
Al 19,800
SE2 2otAr XY 16,000 0 16,000
& 6,000
Al 10,000
307 glztol & 16,000 0 16,000
= 6,000
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02 2IZHBYAIHE & 16,000 0 16,000
Ogt=2 Z3tAte X2 16,000
= 6,000
Al 10,000
rtEeE =4 232,353 244,550 A12,197
307 212+01& 232,353 244,550 A12,197
02 LB HAHE L 68,500 88,500 220,000
O&= Al - 2Ue s2ZAl &8 4,500
O=3tstu 2S X 20,000
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[ 10,000
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= 10,000
Al 10,000
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= 10,000
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AIZIOIN 23t e==Jl2l M3 5,368,322 4,541,155 827,167
= 76,000
Jl 1,938,610
[ 368,600
Al 2,99%,112
gest 24 78,483 78,453 30
101 @124H| 24,461 23,663 798
M ORIMZZ2NSE S 24,461 23,663 798
O3 gyl o=
78,4003 x 1 +262 * 12 24,461
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Al 542,640
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) 1,938,610
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Osg=301=2d At 2,713,810
Jl 1,938,610
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2P e € A A 61,500 61,500 0
= 18,450
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201 er2 3| 61,500 61,500 0
= 18,450
Al 43,050
03 A= 61,500 61,500 0
Ozt s Z2d 24 61,500
== 18,450
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
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= 2,700
Al 6.300
201 er2 3| 9,000 9,000 0
= 2,700
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01 AtR2t2|HI 9,000 9,000 0
Ods Sge 223k 2= & SYE20H
g 9,000
== 2,700
Al 6,300
2FEE 2= M 38,500 38,500
201 er23 | 38,500 38,500
01 At2teltl 38,500 38,500
Oz2ELE T2 NAXZ (A&EA)
7,700,000 *57H 2= 38,500
&M =X 24zt 932,629 491,987 440,642
OFAIOIHEH B 2= Al 2HZ RIS D] 7 (TP0) SSAHY 20,800 20,800 0
202 04| 800 800 0
01 2K 800 800 0
OTP0 SS0HAIE 2ol & SEEAL F4 04l
100,000 4 & »23] 800
308 XXM SOIA 20,000 20,000
07 AX 2L FE= 20,000 20,000
OTP0 H2ld| & diAE2 SS0HE BIS
20,000,000& x13] 20,000
sddAL SSAHY 31,200 31,200 0
202 048l 1,200 1,200
01 2L AH| 1,200 1,200
Os2d 2&823 22 & S2AM F4
(] 60,0002 x4 & +53] 1,200
308 AFAIEHMSOIE 30,000 30,000
07 Xt RS2 30,000 30,000
OsZdaZgos Azt & SS0HHE
= 30,000,000& *13] 30,000
2424 FX 25 € N2 166,000 96,000 70,000
201 er2 3| 115,000 55,000 60,000
01 AtR2t2|HI 63,000 3,000 60,000
O&EIt K229, &R & 29 3,000
ORI A0 &Xl 4,000,000 *15CH 60,000
03 A2 I 52,000 52,000 0
OZ&M 2RI 28 &= 12,000
O22384ds A2 S84 40,000
202 04 1,000 1,000 0
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RERS
401 AIEHIZ SR HYI 760,000 160,000 600,000
01 Al&HI 760,000 160,000 600,000
OZ324HI0H SE, S0 0IS AR 2+ X
ANEE=ALS 160,000
Ot ASSH St LESA 600,000




A 2et2Esg
Hu: R ool #E Y 22
S 22 e & 22X FH (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NEH =il 2+ & 2| 80,797 80,086 Al
101 @124H| 48,077 46,666 1,411
M ORNZZE2NSE S 48,077 46,666 1,411
OUEANEZ JIZHH 22X 2R
78,4003 x 1 +262 * 122 24,461
OUEANER F2 22X 2R
78,4002 x2H*115& 18,032
OUEANEZ =& 212Y
1,200, 0002 43| 4,800
OREANESE £2AT) 29y
78,4002 x5 12 +23] 784
201 fer= 3| 29,720 29,420 300
01 AtR2tc|HI 11,200 10,900 300
Ot ZoX HAHIS 1,000
OUEZANEH HIIZ XMl 400
o &£ 7 2,000 *5000H 1,000
OMEH HFAES 78 500
ONMEZH =54 a3 28 1,800
ONEZ =t&a A= 2Y 1,000
ONEZ HE8 277 1,000
ONEZ MEE 2AFHMEY
5,000 x50 +63] 1,500
OMEH s2=M% 3,000
02 s3=gbl 18,520 18,520 0
ONEZ &ot=E MEZ
80,000& 122 960
ONEZ eIHY A== 20,000& ~12& 240
ORETANES &IIQ
450,000« 12& 5,400
OuUEANEE SS2A0IL0I 23
35,0002~ 12& 420
oHgrE, H=J18 /% 7+ 1,500
Ou=AHNEH ANE=E RANES 10,000
206 MH=H| 3,000 3,000
01 M=4l 3,000 3,000
OHZEE a=AM M| 3,000
OI2EL g9 FHIMG(EX) 60,000 55,000 5,000
[ 22,000
Al 38,000
401 Al HIZL 201 60,000 55,000 5,000
= 22,000
Al 38,000
01 Al&HI 60,000 55,000 5,000
O0I=z5u 8L A 60,000
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SH: 2stzzael
2 D8 EE 2 2
S 22 e & 22X FH (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 22,000
Al 38,000
OlMWEA THAL(HEAY) 5,800,000 200,000 5,600,000
= 2,900,000
Al 2,900,000
401 AIEHIX R0 5,800,000 200,000 5,600,000
=S 2,900,000
Al 2,900,000
01 AlZ28| 5,800,000 200,000 5,600,000
OO0IMIEA LA (HEALY) 5,800,000
< 2,900,000
Al 2,900,000
ZAX(HL) ARAY g2 & ZEAE ~8 B3 200,000 200,000
401 Al HIZL 201 200,000 200,000
01 Al&HI 200,000 200,000
O (4HA) A 22 & ZEHE
=8 93 200,000
OISAHKl 22X =& ZHIAIE 130,000 130,000
401 AlZHIZ SO 130,000 130,000
01 A28l 130,000 130,000
OO0ISAX 2& X =FEH & =Xl 130,000
HY2SABHI(S3t2Z A 73,018 72,207 811
el 2| 45,504 44,093 1,411
elE =gl 45,504 44,093 1,411
101 @124H| 45,504 44,093 1,411
02 JIEtAE = 45,504 44,093 1,411
OAIZMIE T IN (2Hs) 45,504
=10 3,198,000 «1& 128 38,376
oXg 2 x| 140,000& x 1= 123 1,680
o HSAH| 130,000 x 1 * 122 1,560
otExE 60,0002 x1& 122 720
SR 2,895, 1602 «5+ 122 1,738
oy 2lesH| 50,000& * 122 600
o ItE 4| 2,895, 1602 86%+1/30% 10 830
=34 27,514 28,114 2600
Jl=23H] 27,514 28,114 2600
201 Ler=23| 22,194 22,194 0
01 AtR2telHl 22,062 22,062 0
O=AEA 7Y 3,450
OXZgle &Y, =8 7¢ 5,100
OJIEt AtR2t2IHI 13,512
2 352484l 132 132 0
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